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P g SR
2 W B #E7E Boal R
By 3% A FI074£05 H 22 H Hoketk - 107 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

IENE w5 10. 00 | #H%F 686 6,860 1,620 1,474 972
X H D e E 12. 00 [ #H%f 932 11,184 1, 042 455 173

F 9 NAEL O JE 0. 20| FH%F 360 72 97
H % o 3. 00| FHxf 449 1,347 1,728 1,296 756
i A ] 1L 1. 00| FHxf 240 240 540 464 324
ENIE 500 fxt| 22| 110]  3,240] 2,013] 1,080
A X 5. 00 | FHx} 232 1,160 2,052 1,641 540
e 2.00| k%t | 243] 486 56| 621 486
= w5 4. 00| fHxf 451 1,804| 1,080 864 648
EN R a00 4% | 1,316] 5,264 1,206] 991 594
[ I\ w5 5. 00| FH%f 735 3,675 1,404| 1,183 864
EN N 5.00 faxt | 3s4| 1,770 1,620 1,388 864

~7 h< |k F 3. 00| FHxf 63 189 1, 296
(= JEE I 2. 00| FH%f 35 70| 2,160 1,851 1,728
H 7% (= 5. 00 | FHx%t 80 400 1,944| 1,728 1,512
£ A L 10. 00| AHxf 1,709 17,090 2,052| 1,562 648
LA A It fE 10. 00 [ #H%f 240 2, 400 1,512 1,177 540
==l F £ % 4. 00| AH%F 745 2,980 756 679 108
Ty al)— W 6. 00 | FH%f 309 1,854 2,106| 1,641 432
ENIE 6.00 fIxf| 2l 72| 2,376] 2,286 1,836
L xHNn & A 4. 00| AR} 11 44| 6,156 6,038| 5,940
AEMEE w5 0. 10| FHxf 1,700 170 151 100 65
ZDXH E % 0. 20 | FHx} 600 120 65 62 59

LU £ B 0. 20 | FHx} 150 30 81




ID:1210 P- 2

P g SR

ESR S TR = 1 =i Q1 IV NI )
Rz A FI074£05 H 22 H EFER S 23 b (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]

HEAM JEE I 10. 00 | #H%f 500 5,000 2,916| 2,570 1,944
Fova— e K 4. 00| fHxf 75 300 3,024 2,398 2,052
Avara 7 4 U E | 13.00| fE%F 60 780  4,104| 2,696 594
bHFEED @ [ 0. 27| FHxf 268 72 356 351 324
S X EF I 0. 25| A%} 9,073 2,278 486 292 162




